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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MATH

THIS IS A COMPUTATION QUESTION. Convert 11/32 into a decimal, given that 1/32 equals .03125.

ANSWER: 0.34375
TOSSUP 2
LITERATURE

It appeared in 27 installments in Rolling Stone in 1984. It ends with a New York Times article that describes the marriage of Peter Fallow and how Maria Ruskin avoids prosecution by fleeing the country. A Black teenager, Henry Lamb, is comatose after being hit by a car belonging to ‘Master of the Universe’ Sherman McCoy in what first novel by Tom Wolfe?

ANSWER: Bonfire of the Vanities
TOSSUP 3
SCIENCE

The concept of it was developed by Glenn Seaborg and they are distinguished by having the 5f subshell as their outermost subshell.  They are all radioactive and examples of them include thorium, neptunium, curium, and nobelium.  Name this periodic table series that ranges from elements 89 to 103 which is its namesake to lawrencium.

ANSWER: actinide or actinoid
TOSSUP 4
MATH

Pins 2 and 6 are not connected, pin 5 carries the clock signal from the microcontroller, pin 4 carries the voltage, pin 3 carries the ground; while pin 1 in the only pin used for data. They did not become popular until 1995 when Intel released the new ATX motherboard and replaced the serial and DIN connections used in older motherboards. Give the type of connection used for older keyboards and mice.

ANSWER: PS/2

TOSSUP 5
LITERATURE

He was editor of The Sporting News in 1910 and 1911. He worked with George Kaufman to write the play June Moon. What sports reporter and would-be playwright is better-known for his short stories that include ‘The Golden Honeymoon,’ ‘You Know Me Al,’ and ‘Alibi Ike’ and the collection ‘How to Write Short Stories’? 

ANSWER: Ring Lardner, Sr.

TOSSUP 6
SCIENCE

In Scandanavia, an alternate name for this star translates as “Loki's torch.” Part of a binary system, it's dimmer B star has a nickname of “The Pup.”  Part of the constellation Canis Major, what star, also known as “The Dog Star,” is the brightest star in the sky?

ANSWER: Sirius
TOSSUP 7
SCIENCE

Named after a French pediatrician, this disease is caused by a defect in the FBN1 gene which codes for a protein needed for elastic fibers in connective tissue. Its symptoms include nearsightedness, sleep apnea, heart abnormalities, tall stature, and long limbs and fingers. Name this genetic disorder once associated with Abraham Lincoln.

ANSWER: Marfan syndrome

TOSSUP 8
SOCIAL STUDIES

A dynasty of them ruled north India between 1206 and 1290. They also became the power behind the Ayyubid throne, but their own Burji dynasty was very chaotic. Napoleon used them as soldiers in the Peninsular War, where they were confused for Moors. In 1811, their power was broken after they were knocked out by Muhammad Ali in a series of massacres. What slave-soldiers ruled Egypt between 1250 and 1517?

ANSWER: Mameluke(s) or Mamluk(s)

TOSSUP 9
MATH

THIS IS A COMPUTATION QUESTION. What is 27/56 divided by 15/16 in lowest terms?

ANSWER: 18/35
TOSSUP 10
LANGUAGE ARTS

What condition does a Spanish speaker have if he is ciego (see-ay-goh)?

ANSWER: blindness

TOSSUP 11
MISCELLANEOUS

This trademark of DuPont is officially known as poly-tetra-fluo-ro-ethy-lene (quizmaster: dashes are put in for readability.) It has twice as many fluorine atoms as carbon atoms, and it is used as an insulator for connector assemblies and is in the roof of the Metrodome.  Name this polymer with a very low coefficient of friction that is often used in non-stick frying pans.

ANSWER: Teflon
TOSSUP 12
SOCIAL STUDIES

In 107 BC, Gaius Marius expanded the pool of people who could be in them and them a professional force, instead of a citizen levy. Augustus reduced their number from 50 to around 25. Each one had an emblem, or aquila, and was commanded by a legate. Each one had 10 cohorts, which in turn had six centuries. What unit of heavy infantry, with around 5,500 soldiers, was the backbone of the Roman army? 

ANSWER: Roman legion(s)

TOSSUP 13
FINE ARTS

Areas in this building include the Round Reading Room and the Great Court. Sir Hans Sloane gave this museum its initial collection in 1753, and it today has 13 million objects. Its collections include the Warren Cup, the Black Obelisk, the Cyrus Cylinder, the Rosetta Stone, the Benin Bronzes, and the Elgin Marbles. What museum is located, as its name suggests, in London? 

ANSWER: The British Museum

TOSSUP 14
SOCIAL STUDIES

This state didn’t bother to put a dome on its capitol building until 2002, but there is still an oil derrick nearby. It has 39 Native American tribal governments within its borders; indeed, its name comes from Choctaw words meaning ‘red people.’ What state contains the cities of Stillwater, Lawton, Norman, Enid, and Tulsa? 

ANSWER: Oklahoma
TOSSUP 15
LITERATURE

In this work, the author argues based on the existence of a ‘Moral Law’ or a ‘Rule about Right and Wrong’ common to all Christian denominations. It was adopted from a series of BBC broadcasts made by its author in 1943. It was originally three pamphlets: The Case for Christianity, Christian Behaviour, and Beyond Personality. What is this Christian apologetic by C.S. Lewis? 

ANSWER: Mere Christianity
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
FINE ARTS

He broke up with his band, the Tenneva Ramblers, the night before the Bristol Barn Sessions. This country singer recorded ‘Standing on the Corner’ with Louis Armstrong on trumpet. Nicknamed “The Singing Brakeman,” what early country music star died of tuberculosis in 1933 and recorded the “Blue Yodels” that included “T for Texas”?

ANSWER: Jimmy Rodgers
BONUS 16
SCIENCE

This term literally means “mountain of ice.”

A.
Name these free-floating, often enormous blocks of ice.

ANSWER: icebergs

B.
Icebergs often form from these platforms of ice that extend outward from supporting rock.

ANSWER: ice shelf
C.
This is the process by which icebergs break off from glaciers or ice shelves.

ANSWER: calving [accept word forms]

D.
Rounded to the nearest 5%, what proportion of the volume of an iceberg is typically underwater?

ANSWER: 90%
TOSSUP 17
SCIENCE

It was first cultivated around Milan in the late 19th century. In a 2005 survey, it was found to be Britain’s tenth favorite culinary vegetable, even though like the tomato it is technically a fruit. Its flower is a delicacy. Name this usually green, cucumber-shaped type of summer squash that is found near the ground and at the end of the alphabet.


ANSWER: zucchini (prompt on ‘squash’ before it is said)
BONUS 17
MISCELLANEOUS

The lost sports league: the National Hockey League. Given a stadium name the team who plays there.

A. 
Scottrade Center

ANSWER: Saint Louis Blues  (either)

B. 
Joe Louis Arena

ANSWER: Detroit Red Wings  (either)

C. 
United Center


ANSWER: Chicago Blackhawks  (either)

D. 
Mellon Arena 


ANSWER: Pittsburgh Penguins  (either)

TOSSUP 18
LITERATURE

The most successful enemy in this fantasy series is General Ironbeak, who nearly conquered the Abbey. The Abbey is contained in Mossflower Woods. Several books in this series are about the Badger Lords of Salamandastron (sah-lah-man-dah-strawn). Most of the protagonists are mice and the villains are rats. Eulalia is the latest book in what series by Brian Jacques (jakes) that features Martin the Warrior? 

ANSWER: Redwall series

BONUS 18
SOCIAL STUDIES

Identify these terms related to real estate.

A.
What name is given to the process that occurs when the bank repossesses a house on which someone couldn’t pay the mortgage? 


ANSWER: foreclosure (accept word forms)

B.
What word describes the difference between the value of your home and the mortgage amount, a sum which itself can be borrowed against? 


ANSWER: (home) equity


C.
Ruth Glass coined what term that describes how a once-rundown neighborhood renovates, increasing property values and forcing the original residents to move out? 


ANSWER: (urban) gentrification

D.
What does the abbreviation PMI stand for in reference to your mortgage payment?


ANSWER: private mortgage insurance

TOSSUP 19
MATH

THIS IS A COMPUTATION QUESTION. Solve for x and y.  2x plus 3y equals 11 and 4x minus 3y equals 13.

ANSWER: x equals 4 and y equals 1 (either order is acceptable)

BONUS 19
LITERATURE

Who wrote these works?

A.
A Tale of Two Cities


ANSWER: Charles Dickens
B.
Jane Eyre



ANSWER: Charlotte Bronte
C.
Ivanhoe



ANSWER: Sir Walter Scott
D.
Vicar of Wakefield


ANSWER: Oliver Goldsmith
TOSSUP 20
SOCIAL STUDIES

This phrase was coined by John O’Sullivan in 1845. It was briefly revived in the 1890s to justify American wars overseas. It became unpopular in the mid-1850s after the Ostend Manifesto linked it to slavery, but was the spirit behind the movement to annex the entire Oregon County – ‘Fifty-four forty or fight!’ What two words described the belief that the United States’ fate was to expand between the Atlantic and Pacific? 

ANSWER: Manifest Destiny
BONUS 20
MATH

THIS IS A COMPUTATION QUESTION. How many total bases are the following?

A.
12 home runs, 14 triples, 4 doubles, and 28 singles?  Answer:  126 bases

B.
23 home runs, 8 triples, 9 doubles, and 14 singles?  Answer:  148 bases

C.
43 home runs, 6 triples, 43 doubles, and 82 singles?  Answer:  358 bases

D.
35 home runs, 9 triples, 36 doubles, and 58 singles?  Answer:  297 bases

TOSSUP 21
SCIENCE

He was the first person to inject something into the bloodstream, doing so with a dog, and was President of the Royal Society between 1680 and 1682. He died in 1723; his epitaph reads, ‘Reader, if you seek his monument, look around.’ Look around, and one can see Oxford’s Sheldonian Theatre, the Chelsea Hospital, the Royal Observatory, and St Paul’s Cathedral – all of which were designed by what architect? 

ANSWER: Christopher Wren
BONUS 21
LITERATURE

Given a John Steinbeck character, identify the work in which that character appears.

A.
Tom Joad.

ANSWER: The Grapes of Wrath 

B.
Adam Trask.

ANSWER: East of Eden
C.
George Milton.
ANSWER: Of Mice and Men
D.
Mr. Torelli.

ANSWER: Tortilla Flat
TOSSUP 22
LITERATURE

Originally named Podarces (poh-dar-seez), he saved his life by giving Heracles a golden veil. His first wife, Arisbe, gave birth to his son Aesacus (ee-sah-kus). Some of his lesser known children include Polyxena (paw-lik-see-nuh), Laodice (lah-oh-dih-suh), Polydorus, and Deiphobus (day-foh-bus). Who was the husband of Hecuba, father of Paris and Hector, and last king of Troy? 

ANSWER: King Priam
BONUS 22
SOCIAL STUDIES

Answer the following about Maine

A.
This city is the largest in Maine


ANSWER: Portland
B. 
This is the highest point in Maine


ANSWER: Mount Katahdin

C.  
This town is the eastern most point in the 50 united states.


ANSWER: Lubec

D. 
This national park is the only national park in all of New England and preserves Mount Desert Island.


ANSWER: Acadia National Park

TOSSUP 23
MATH

THIS IS A COMPUTATION QUESTION. What is the mean of 17, 33, 46, 14, 12, and 58?

ANSWER: 30
BONUS 23
MATH

THIS IS A COMPUTATION QUESTION. Solve for x and y. (Note: Answers may be given in either order)

A.
2x plus y = 3x minus y plus 11.
ANSWER: x equals 3, y equals 7
B.
3x plus 4y = 5x minus 4y plus 20.
ANSWER: x equals 2, y equals 3
C.
2x minus 3y = 5x plus 3y plus 9.
ANSWER: x equals –3, y equals 2
D.
4x minus 7y = 3x plus 7y minus 8.
ANSWER: x equals 6, y equals 1
TOSSUP 24
MISCELLANEOUS

Ted Hendricks and Doug English have recorded four of these in their careers, and no NFL game has ever had more than three. By contrast, in Canadian football, teams will deliberately give one up if they are deep in their own territory. In 2004, Texas scored a one-point one of these after a botched extra point attempt. A football referee puts his hands together over his head to indicate what score, usually worth 2 points?

ANSWER: safety 

BONUS 24
SCIENCE

Answer these questions about magnetism.

What equations simplify to the Biot-Savart law if there is a steady current?


ANSWER: Maxwell’s
What is the name of a hypothetical magnet with net magnetic charge – and hence will have just a ‘north’ end? 


ANSWER: monopole
What is the SI unit of magnetic flux?


ANSWER: weber
What behavior is exhibited when an object, like a nail, doesn’t display magnetic properties, but then begins to display them in the presence of a strong magnetic field?


ANSWER: paramagnetism (accept word forms)

TOSSUP 25
SOCIAL STUDIES

It is stronger than iron, weaker than steel, and gave its name to a historical age lasting from 3500 BC to 1200 BC.  It can contain aluminum, silicon, phosphorus, manganese, or nickel, but it usually contains tin and always contains copper.  Name this type of alloy that is usually given to third-place finishers at the Olympics.

ANSWER: bronze

 BONUS 25
LANGUAGE ARTS

Consider the sentence, ‘I run along the road.’ Now:

A.
Express that sentence in the future perfect tense. 


ANSWER: I shall have run along the road (accept ‘will’ for ‘shall’)

B.
What is the person and number of this sentence?


ANSWER: first person singular (accept either order)

C.
‘The’ is one of what special type of adjective?


ANSWER: article(s)

D.
‘Run’ is what type of verb that does not take a direct object?


ANSWER: intransitive
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
FINE ARTS

It evolved in the 18th century from the contradanza and the sevillana. It is the slowest of the Latin ballroom dances in American ballroom dancing. What is this dance, also the name of a Maurice Ravel work? 

ANSWER: bolero
TOSSUP 27
MISCELLANEOUS

In 2001, he was fired for expressing support of the Anti-Ballistic Missile Treaty shortly after the US abandoned it. In 2006, he overcame India’s Shashi Tharoor to win his current job and named Tanzania’s Asha-Rose Migiro as his deputy. Who succeeded Kofi Annan as Secretary-General of the United Nations?

ANSWER: Ban Ki-Moon (Though the family name is Ban, accept either underlined part)

TOSSUP 28
SOCIAL STUDIES

On July 22, 1822, after the Guayaquil (gwah-yah-keel) Conference, he apparently decided to retire from political and military life. He went to Europe in 1824 and never returned to the countries he helped make independent. What national hero of Argentina is considered one of the two South American ‘Liberators’ along with Simon Bolivar? 

ANSWER: José de San Martin (sahn mar-TEEN)

TOSSUP 29
MATH

THIS IS A COMPUTATION QUESTION. What is the radian measure of the supplement of a 60-degree angle, given that an angle plus its supplement equals 180 degrees and that 180 degrees equals pi radians?

ANSWER: 2 pi over 3 radians

TOSSUP 30
SCIENCE

Composed of 51 amino acid residues, its name comes from the Latin for island.  The determination of its structure won Frederick Sanger a 1958 Nobel Prize and its discovery resulted in a 1923 Nobel Prize for J. J. R. Macleod and Frederick Banting.  Name this hormone produced in the islets of Langerhans that is used to treat diabetes.

ANSWER: insulin
TOSSUP 31
LITERATURE

He wrote Taxation No Tyranny in opposition to American independence. He also wrote Lives of the English Poets. He wrote A Journey to the Western Isles of Scotland while visiting the homeland of his biographer. His most famous work sold for 4 pounds, 10 shillings, and contained definitions of 42,773 words. What subject of James Boswell’s biography is best known for A Dictionary of the English Language?  

ANSWER: Samuel Johnson
TOSSUP 32
MATH

THIS IS A COMPUTATION QUESTION. To the nearest integer, what is the natural log of 150, given that e is about 2.718 and e cubed is about 20.1?

ANSWER: five
TOSSUP 33
SCIENCE

Its discovery in 1962 won its namesake the 1973 Nobel Prize in Physics.  It can be used to measure the size of a volt, the ratio of electron charge to Planck’s constant, or potentially to make superfast computers.  It can be influenced by magnetic fields and potential differences.  Name this phenomenon that is current flow across two superconductors separated by a thin insulator. 

ANSWER: Josephson effect (accept Josephson junction)

TOSSUP 34
SOCIAL STUDIES

This river had massive floods in 1927 and 1993. The Army Corps of Engineers has built 27 Lock and Dams along its length. St. Anthony Falls is located near its source. It empties into the ocean at the so-called ‘End of the World’ in Plaquemines (plah-kuh-manz) Parish, Louisiana. What river runs 2,320 miles from Lake Itasca in Minnesota to the Gulf of Mexico? 

ANSWER: Mississippi River

TOSSUP 35
MATH

THIS IS A COMPUTATION QUESTION. The positive square root of 550 is between what two integers?

ANSWER: 23 and 24
TOSSUP 36
SCIENCE

Native to South America, its scientific name is Aracis (ah-rah-KIS) hypogaea (heye-poh-GUY-uh) and top producers of this plant include China, India, Nigeria, Indonesia, and the United States.  The experimental drug TNX-901 may combat an allergy to it that is very deadly and becoming more common.  Name this legume associated with Jimmy Carter, George Washington Carver, that state of Georgia, and a type of butter.

ANSWER: peanut
TOSSUP 37
LITERATURE

Dame Olga, and her stepsisters Olive and Hattie, torment the title character of this book by Gail Carson Levine. Her problems began as a child, where she would not stop crying; the fairy Lucinda cast a spell making her had obey any direct order. She does have the help of her fairy godmother Mandy, and marries Prince Charmont at the end. What book was made into a 2004 movie starring Anne Hathaway? 

ANSWER: Ella Enchanted
TOSSUP 38
LANGUAGE ARTS

This type of noun is distinct from “mass nouns” such as water and air in that they are countable, but instead refer to a group of things or individuals. British English will usually use the plural with what type of nouns – examples of which include government, organization, and team? 

ANSWER: collective nouns

TOSSUP 39
SOCIAL STUDIES

Lebanon has not had one since 1932, and Afghanistan has never completed one. In Canada, the last was in 2006 and the next will be in 2001. Many European countries have them in years ending in ‘1.’ The 2000 United States one cost $4.5 billion. For the next American one in 2010, there is some debate about accounting for the homeless and illegal aliens. What is this periodic counting of a nation’s population? 

ANSWER: census(es)

TOSSUP 40
LITERATURE

It is called the tefutzah in the language of the people that underwent it. Later phases occurred after the revolts of the Zealots in 70 CE and of Simon bar-Kochba in 135 CE. Earlier phases occurred after the conquest of Samaria in 722 BCE and of Jerusalem in 586 BCE. From the Greek for ‘scattering,’ what word refers to the dispersal of the Jews throughout the Middle East and eventually the world?

ANSWER: (Jewish) Diaspora 

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH

THIS IS A COMPUTATION QUESTION. What is the area of a square with a perimeter of 28 feet?

ANSWER: 49 square feet
BONUS 41
MATH

THIS IS A COMPUTATION QUESTION. Square the following numbers.

A.
54

ANSWER: 2916
B.
106

ANSWER: 11236
C.
201

ANSWER: 40401
D.
13

ANSWER: 169
TOSSUP 42
SCIENCE

Urine is known as the chamber type of it, sodium hydroxide is known as the soda type of it, and potassium hydroxide is known as the potash type of it.  Name this caustic metallic base obtained from ashes that is used as drain cleaner and used in making soap, detergent, paper, textiles, and glass.

ANSWER: lye
BONUS 42
SCIENCE

Answer these questions about bones:

A.
What fibrous structures connect bones to one another at joints?

ANSWER: ligament(s) [prompt on “cartilage”]

B.
Which element is the primary metallic component of bones?

ANSWER: calcium
C.
What cells, whose activity declines with age, are responsible for building new bone mass?

ANSWER: osteoblasts [AHSS-tee-uh-blasts]

D.
So-called “hip fractures” are most commonly fractures of which bone?

ANSWER: femur
TOSSUP 43
SOCIAL STUDIES

In 1624, it was declared ‘in ruinis’ by a High Court of Admiralty and was probably sold for scrap lumber. Its captain was Christopher Jones, and its 102 passengers intended to land in North Virginia, around the mouth of the Hudson. However, they landed on Cape Cod. What ship sailed from Plymouth in 1620, carrying the Pilgrims?

ANSWER: Mayflower
BONUS 43
MATH

THIS IS A COMPUTATION QUESTION. If A = 1, B = 2, etc., through Z = 26, what are the numerical values of the following?

A.
J times U.



ANSWER: 210
B.
H plus R plus W.


ANSWER: 49
C.
G times Y times F.


ANSWER: 1050
D.
B times T times E times M.

ANSWER: 2600
TOSSUP 44
SOCIAL STUDIES

Research shows it may be inborn: small toddlers have expressed reluctance to walk across glass floors. In occasional cases, it can lead to difficulty doing simple tasks such as standing on a chair or climbing up stairs. Even worse, the sufferer may feel the urge to jump from their position. What is this extreme fear of heights? 


ANSWER: acrophobia
BONUS 44
LITERATURE

Identify these Christian groups from clues.

A.
Ellen White took the Millerite groups and formed what church, noted for meeting a day earlier than other Christian groups? 


ANSWER: Seventh-Day Adventists
B.
Charles Taze Russell and Joseph Rutherford were the first leaders of what church? 


ANSWER: Jehovah’s Witness(es)

C.
Mary Baker Eddy wrote Science and Health with Key to the Scriptures, the cornerstone book of this faith.


ANSWER: Church of Christ, Scientist or Christian Science or Christian Scientist
D.
The Sixteen Fundamental Truths are the central doctrines of what largest Pentecostal denomination?


ANSWER: Assemblies of God (accept Assembly of God)

TOSSUP 45
SCIENCE

In 2004, its replacement vehicle, the Orion, was announced. It was supposed to reduce costs 95% from the Saturn V, and was first launched on September 17, 1976. Four were built for operational use, but one was destroyed in 1986 and later replaced, and another was destroyed in 2003, leaving only Endeavour, Atlantis and Discovery. What vehicle did NASA intend to serve as a ‘truck’ to low-earth orbit? 

ANSWER: Space Shuttle or Space Transportation System or STS
BONUS 45
LITERATURE

Name these German authors from works.

A.
The Tin Drum, Dog Years


ANSWER: Gunter Grass
B.
Buddenbrooks, Death In Venice

ANSWER: Thomas Mann
C.
The Clown, Billiards at Half-Past Nine
ANSWER: Heinrich Boll
D.
Steppenwolf, Siddhartha


ANSWER: Herman Hesse
TOSSUP 46
LANGUAGE ARTS

This word is a method of advertising that involves covering the entire vehicle with the advertisement. When placed after ‘under,’ it refers to great secrecy. Its most common meaning is to arrange something around oneself for protection. In movies and television, it means to finish work for a day, or to complete filming a scene or episode. What word also describes a sandwich made by putting food in a tortilla? 

ANSWER: wrap(s)

BONUS 46
SCIENCE

Each element has a unique electron configuration in its ground state. Given an element, give the subshell of highest energy in its electron configuration. For example, 3d is higher in energy than 4s.

A. 
Helium




ANSWER: 1s
B. 
Chlorine



ANSWER: 3p
C. 
Palladium [puh-LAY-dee-um]
ANSWER: 4d
D. 
Uranium



ANSWER: 6f
TOSSUP 47
MISCELLANEOUS

One of the founders of Project Greenlight, he dropped out of Harvard to pursue an acting career.  He played a fictional version of himself in the movie-within-a-movie sequel of his Oscar-winning screenplay in Jay & Silent Bob Strike Back.  Starring as both aspiring thief Linus Caldwell and rogue assassin Jason Bourne is what actor, best known for his collaboration with Ben Affleck in Good Will Hunting?

ANSWER: Matt Damon
BONUS 47
SOCIAL STUDIES

Answer these questions about the life of Julius Caesar. 

A.
Who delivered the funeral oration at Caesar’s funeral and publicly offered Caesar a crown?


ANSWER: Marc Antony or Marcus Antonius
B.
What adopted son of Caesar became the Emperor Augustus?


ANSWER: Octavian or Octavianus
C.
Caesar had a son, Caesarion, with what woman?


ANSWER: Cleopatra
D.
Now, give the month, day, and year of Caesar’s assassination?


ANSWER: March 15, 44 BC (or BCE, accept the Ides of March, 44 BC)

TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. In lowest terms, what is the probability of rolling a 5 or lower on a fair pair of dice, given that there is a 1/9 chance of rolling a 5, a 1/12 chance of rolling a 4, a 1/18 chance of rolling a 3, and a 1/36 chance of rolling a 2?

ANSWER: 5/18
BONUS 48
MISCELLANEOUS

November 5th 2007 the day late night TV died. Answer the following.

A.
This union decided to strike and sent Hollywood to a stretching halt


ANSWER: Writers Guild of America

 B.
The writers are striking against this group.


ANSWER: Alliance of Motion Picture and Television Producers

C. 
This group has a no strike clause however several of its members have picketed along with the writers


ANSWER: Screen Actors Guild

D. 
The highest known show to cross the picket lines is this day time talk show which dropped its opening monologue.


ANSWER: This Ellen DeGeneres Show

TOSSUP 49
LITERATURE

He has the number A-7713 tattooed on his left arm. His memoirs are in two volumes: All Rivers Run to the Sea and And the Sea is Never Full. The author of The Forgotten and The Oath, he was ‘very not interested’ in becoming President of Israel. He was attacked in February 2007 by Eric Hunt, a Holocaust denier. What Holocaust survivor wrote the fictional Dawn and Day along with his semi-memoir, Night? 

ANSWER: Elie (or Eliezar) Wiesel
BONUS 49
SOCIAL STUDIES

Given a European king, identify the country he ruled.

A.
John Sobieski, who defeated the Turks at the 1683 Battle of Vienna.


ANSWER: Poland
B.
Charles XII, who lost the Great Northern War.


ANSWER: Sweden
C.
St. Stephen, who ruled between 1000 and 1038, was the first king of what nation?


ANSWER: Hungary
D.
Kaloyan, who fought the Byzantine Empire and later the Latin knights of the Fourth Crusade. 


ANSWER: Bulgaria (or the Second Bulgarian Empire)

TOSSUP 50
LITERATURE

At the end of this book, Fletcher Lynd has become a teacher, and the title character flies off and is still learning. In the middle of the cook he is told to know that ‘you have already arrived’ by the wise bird Chiang, who lives on a ‘higher plane of existence’ than the ‘breakfast flock’ that had expelled him. Richard Bach wrote what 1973 novella about a bird whose love of flight made him a ‘gull in a million’? 

ANSWER: Jonathan Livingston Seagull: A Story
BONUS 50
FINE ARTS

Answer with members of the animal kingdom for five points each.

A.
In a Ralph (rafe) Vaughan Williams tone poem, this title bird is depicted "Ascending.’

ANSWER: Lark
B.
In Act III of The Tale of Tsar Saltan, Guidon Saltanovich transforms himself into this insect for a famous minute-and-a-half "Flight"

ANSWER: Bumblebee
C.
Three French Horns were used to depict this title character of a Prokofiev piece for children.

ANSWER: The Wolf
D.
The real name of this Puccini title character, a 15-year-old Geisha, is Cio-Cio-San [Cho-Cho-San].

ANSWER: (Madame or Madama) Butterfly
END OF MATCH

Spare questions
TOSSUP 51
MISCELLANEOUS

Its subsidiary record labels included Tamla and Rare Earth. The artist Rockwell was the son of this record label’s father. The Funk Brothers provided most of the backup music on this label’s songs, but did not stay after it moved to Los Angeles in 1972. What record label, founded by Berry Gordy, Jr., was originally based in Detroit and included among its stars Smokey Robinson, Diana Ross, The Temptations, and Stevie Wonder? 

ANSWER: Motown Records

BONUS 51
MISCELLANEOUS

Name these fads of decades past.

A.
Gary Dahl conceived these gray pebbles that were marketed as companions.


ANSWER: Pet Rock(s)

B.
Forty channels around 27 megahertz were what method of communicating with other people where ’10 codes’ were used?


ANSWER: Citizens’ band or CB radio

C.
Wham-O introduced what circular toy in 1958, a success they followed up with the Frisbee?


ANSWER: Hula hoop(s)

D.
These 1990s toys made by Tiger Electronics come out of the box only speaking a made-up language, but then ‘learned’ English as you talked to them.


ANSWER: Furby or Furbies
TOSSUP 52
MATH

What type of conic section is x squared over 121 minus y squared over 144 equals 1?

ANSWER: hyperbola
BONUS 52
SOCIAL STUDIES

Given a Presidential candidate and year, name that person’s Vice-Presidential candidate.

A.
Lyndon B. Johnson, 1964.

ANSWER: Hubert Humphrey
B.
George H.W. Bush, 1992.

ANSWER: Dan Quayle
C.
Michael Dukakis, 1988.

ANSWER: Lloyd Bentsen
D.
Gerald Ford, 1976.


ANSWER: Bob Dole
TOSSUP 53
LITERATURE

This short story’s author based it mostly on a nervous breakdown suffered in 1887. An unnamed woman, who has apparently just given birth, suffers from a ‘slight hysterical tendency’ and is confined to a room. There, she begins to stare at the walls, and starts to imagine that imagining a woman is trapped in the walls. What short story by Charlotte Perkins Gilman ends with the woman tearing the title object from the wall?

ANSWER: “The Yellow Wallpaper”

BONUS 53
SCIENCE

Answer these questions about the cell cycle:

A.
What ten-letter term describes the entire cycle except for the time in which the cell is dividing?

ANSWER: interphase
B.
What letter is given to the phase of the cell cycle in which DNA is duplicated for the upcoming cell division?

ANSWER: S phase [for “synthesis”]

C.
In which form of cell division does a diploid cell divide into two equal daughter cells?

ANSWER: mitosis [my-TOH-sis]

D.
When a cell is too damaged to undergo further divisions, it may undergo what process of programmed cell death?

ANSWER: apoptosis [AY-pop-TOH-sis or ay-poh-TOH-sis]

TOSSUP 54
FINE ARTS

His conservative worldview was expressed in paintings like The Extraction of the Stone of Madness and Ship of Fools. His birth name was Jeroen (yeh-roan) van Aken (van ah-ken). What Dutch artist painted a triptych that included on the right, Hell, on the left, The Earthly Paradise, and in the middle, The Garden of Earthly Delights? 
ANSWER: Hieronymus (high-raw-nih-mus) Bosch (accept Jeroen van Aken before it is said in the question)

BONUS 54
LITERATURE

Given early works by an author, name the author. 

A.
The Naked and the Dead. 


ANSWER: Norman Mailer
B.
The Natural.




ANSWER: Bernard Malamud
C.
Player Piano and The Sirens of Titan.
ANSWER: Kurt Vonnegut, Jr. 

D.
Watch and Ward and Roderick Hudson.
ANSWER: Henry James
TOSSUP 55
SOCIAL STUDIES

After World War I, he returned home to Pall Mall, Tennessee, and operated a mill. His attempt to claim conscientious objector status failed and he was assigned to the 328th Infantry. He received his first promotion due to his sharp-shooting abilities. What World War I hero’s Medal of Honor citation reads: ‘In this heroic feat, the machinegun nest was taken, together with 4 officers and 128 men’? 

ANSWER: (Corporal or Sergeant) Alvin York
BONUS 55
MATH

THIS IS A COMPUTATION QUESTION. What are the volumes of the following?

A.
A cube of surface area 600 square feet.
ANSWER: 1000 cubic feet
B.
A sphere of surface area 324 pi square feet.
ANSWER: 972 pi cubic feet
C.
A cube of side length 12 feet.


ANSWER: 1728 cubic feet
D.
A box of height 5 feet, width 12 feet, and length 32 feet.  

ANSWER: 1920 cubic feet
TOSSUP 56
LANGUAGE ARTS

It is a fixed sized, on each computer, block of memory involved in transfers between physical memory and hard disk. In medieval times, it was a young boy who hoped to become a squire. It is someone that delivers papers and runs errands for members of the Virginia General Assembly. What is the name of each side of a piece of paper in a book?

ANSWER: page
BONUS 56
LANGUAGE ARTS

Answer these questions about English idioms.

A.
The idea that things cannot change their nature is expressed by saying what animal cannot change its spots?


ANSWER: leopard(s)

B.
What four words describing the beneficiary of a last-minute intervention come to us from a boxing phrase?


ANSWER: saved by the bell
C.
Someone who is doing something useless is said to be carrying coals to what English city? 


ANSWER: Newcastle
D.
What term to describe the goodwill gained from doing someone a favor may have originated from the merit system of seven to eleven year old Girl Scouts?


ANSWER: Brownie point(s)

TOSSUP 57
SCIENCE

Sometimes also named after Carl Bosch, it once used osmium and uranium catalysts but now uses an iron catalyst.  It is performed under 250 atmospheres of pressure and temperatures of 450 to 500 degrees Celsius.  Name this process named after a German chemist that is used for producing fertilizer and is the reaction of nitrogen and hydrogen to produce ammonia.

ANSWER: Haber process

BONUS 57
FINE ARTS

Some artists fall into a rut.  Given a favorite subject, name the artist who created many works featuring it.

A.
Fractals and Tesselations of animals, such as fish and birds in "Sky and Water."

ANSWER: M. C. Escher
B.
Giant versions of comic strip panels, such as "Drowning Girl" 

ANSWER: Roy Lichtenstein 
C.
Flowers and animal skulls, such as her "Cow's Skull: Red, White, and Blue" ANSWER: Georgia O'Keeffe 

D.
Since 1966, painter On Kawara has made thousands of canvases featuring large white letters recording this.

ANSWER: The date (or "today's date," or "the day of the year;" accept equivalents)
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